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3. Thetraining software should be determined to purchase by Chin-yi Company. The employees
can improve their speed of typing through the software training. A random sample of 8

employees has been taken. These employees have finished the training session. The numbers of
words per one minute typing by these employees are given bellows:

mployees
1 2 3 4 5
Software

Before (1) | 50 54 48
After (2) | 48 52 49

48 55 50 60 63
55 53 54 58

66

(1). Construct a 95% confidence interval for z, — ¢, . (15 4)

(2). Usethe 0.05 level of significance to test whether the training software is effective. (10 57)

Zoos =1.645,  Zjpps =196,  typpse =2.306,  Thgus7) = 2.365,

toos@ =1.860, g =1.895,
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3. Thetraining software should be determined to purchase by Chin-yi Company. The
employees can improve their speed of typing through the software training. A random
sample of 8 employees has been taken. These employees have finished the training
session. The numbers of words per one minute typing by these employees are given

bellows:
mployees
Py 1 2 3 4 5 6 7 8
Software
Before(121) | 50 54 48 48 55 50 60 63
After (iu2) | 48 52 49 55 53 54 58 66
Zoos =1.645,  Zy0ps =196,  tooee =2.306,  togs s = 2.365,

toos@ =1.860, 7 =1.895,
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mployees
1 2 3 4 5 6 7 8
Software
D=1 p2 2 2 -1 -7 2 -4 2 -3
8
D, _7
D=2 _—=—=-0875
8 8
8 J—
(Di - D)2
S =F————=12125
n-1

S, =+/12.125 = 3.482097

(1). Construct a 95% confidence interval for g, — u, . (15 »")

d = o5 8-1) X T:] S pp A+t 0 g X T;

(<0875 - 2.365 x 220200 ) ¢ ) < (0,875 +2.365 x 0o
8 V8

- 3.78656853 < u, < 2.03656853

(2). Use the 0.05 level of significance to test whether the training software is effective.
(10 77)

Ho:up =0
H,:up <0

- d __ —0875
S, 3.482097
S G R

—toosr) = ~1.895

=-0.710742329

T> =ty NonRegect Ho

Thetraining softwareis not effective.




